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| Mansoura University ' Educational year: 2015-2016
Faculty of science , Programs: Chemistry- Zoology,
Zoology Department Chemistry- Botany, Microbiology,
Subject: Zoology Environmental science
Course(s):Principals of cell Date: 12/1/2016

bioclogy, histology  and Time Allowed: 2 hours

genetics (Z101) Full Mark: 60 Marks
Part 1.Cvtologvz (20 Marks)
I-Mention the functions of each of the following:- (8 Marks)

a- Nucleolus

.................................... 0000000000000 0200000000000000000000000CC000000006000000080

b- Mitochondria
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II- Choose the correct answer:- , (12 Marks)

I-In ..............., cell receptors on the cell membrane determine which substances to pass and
’_ which to be stopped.

a— Selective transport b- Sodium-Potassium pump c- Active transport

2- ... e, connects the plasma membrane with the nuclear membrane.

a- Microtubules b- RER Cc- cytoplasmic matrix

3-In ...... e, , the lysosomal membrane is ruptured and thé released enzymes digest the

cell itself

a- starvation b- Autophagy ‘ c- Autolysis

i L s 1 ¢ 54 0 helps maintain shape, support nerve cell extentions, and attach cells

together.

a- Intermediate filaments b-Microfilaments ¢- Microtubules

S is a colloid protein solution in which the chromatin is suspended

a- cytosol b- Nuclear sap c-Nucleolus

B s s s s it i membranes contains enzymes for a calcium pump in relation to muscular

contraction and relaxation.

a- Lysosomes b- Golgi apparatus c- SER

Toeeiiiiiannns, shares in the formation of Acrosome which facilitates penetration of sperm
into the ovum.

a-Golgi apparatus b-Lysosomes c- SER

B 4.0 4w o 45 15 is a process by which the cell membrane can pick up minute droplets of
fluid into the cytoplasm. \ |
a- Pinocytosis - b-Phagocytosis c- Autolysis
B e o are present in the inner half of the cell membrane.

a- Cholesterol b-Interisic protein ¢- Glycolipids
10- . are twisted double strands consisting of a string of actin protein.

a-Microfilament b- Intermediate filaments ¢c- Microtubules
L = o5 e s s are membranous vesicles containing hydrolyticenzymes

a- Ribosomes b-Lysosomes ¢- Golgi bodies
12- The number of ................ is directly proportional to the activity of the cell.

a- Mitochondria b- Mitochondrial cristae c-aandb
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Part II. Histology: (20 Marks)
I- Draw a labeled diagram for each of the_following:-‘ (10 Marks)

a- Cells of the nervous tissue

b- Olféctory epithelium

c- Merocrine vand Apocrine gland
d- Pseudostratified epithelium

e- Stratified squamous epithelium

II-Choose the correct answer: - (10 marks)
1-Tendon is an example of .c.oovvieiieriineiacnnens connective tissue.
a) supportive b) Proper ¢) vascular
2- The extracellular matrix of hair is called ......................
a) Hyaluronic acid b) Keratin sulfate c) Chondroitin sulfate
k2L G T muscles is considered as an example of uni-nucleated cells.
a) skeletal b) smodth c) aandb
4- Intervertebral disc is an example of ......c.cooeviiiieiieinniann.o cartilage.
a) Hyaline 'b) Elastic ¢) Fibro
5- All of the following is considered as a part of vascular CT except ..........cccceevuee
a) Fibrinogen b) erythrocytes ¢) collagen
B s i Wiy s Bl enopai muscle cells are characterized by its cylindrical shaped.
a) Skeletal | b) Cardiac c) Smooth |
T v vima o s s SR RS . fibers are largest size fibers promote tissue flexibility.
a) Collagen -y e ¢) Reticular
B s s wonen sswm s same o1y b are cells of connective tissue those secrets histamine
a) Fibrocytes b) plasma cells ¢) Mast cells
B i s v saareass v is a type of bone cells responsible for bone synthesis.
a) Osteoclast b) Intercalated discs ¢) Osteoblast
10- Adipose tissue of hypodermis is an example of........ccceeeeuen.. connective tissue.
a) Loose b) Supportive ¢) Dense regular
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- Part III. Genetics: (20 Marks)
I- Mark correct (\) or wrong (X): (1/2 Mark each)
1) Phosphodiester linkage is the bond that links two nucleotides at same strand. ( )
2) Necleuosides consist of deoxyribose sugar and phosphate group. ( )

3) Hydrophobic interactions are extensive hydrogen bonds that link neucleotides of two strands

together. )
4) Base stacking is a direct result of a force known as Van der Waals force ()
5) Presence of OH group at carbon atom 2 is a hallmark of deoxy ribose sugar ()
6) mRNA transcript is always in fixed §'-------- 3' direction ()
7) Stable ternary complex consists of DNA template and short mRNA transcript and DNA
polymerase IIL. ( )
8) Sequence 5S’-AAUAGGGA-3’ is the termination signal for RNA transcription ()
9) Charged tRNA is always present in the E-site of the ribosome. ( )
10) Quaternary Structure of proteins is defined as the interaction between several different proteins
(or subunits) to give the final functional protein ( )
11) Hybridization is the ability of artificial DNA strands to interact with their complementary
target of DNA. ( )
12) A set of two primers is needed to initiate PCR reaction ()

13) Hyperchromicity is a phenomenon that defines the ability of separated DNA strands to absorb
more ultraviolet light than do dublex DNA. ( )

‘ 14) G-banding is a type of karyotyping where heterochromatic regions tend to be dark, while

euchromatic regions tend to be light. ( )
15) Gel electrophoresis is the ability of DNA to migrate when it placed in an electric field at positive

electrode. ' ( )
16) Annealing temperature is equal to melting temperature + 2 ( )
17) ’-GANNAUGG-3’ is the sequence that identifies start codon in eukaryotes ( )
18) Migration speed of DNA in an electric field is only dependent on its effective volume ( )

19) Number of copies of PCR product could be estimated according to 2" equation where (n) is
number of cycles. ( )
20) EcoRI is an example of restriction enzymes with blunt end cutting edge. ( )
21) Heterochromatin, defined as the less compact form of chromatin that consisted of infrequently
transcribed DNA. ( )
22) Discovery of heat stable Taq DNA polymerase is the main cause evolved PCR technique ( )

23) Anaphase is the preceding phase to metaphase in somatic cell cycle ( )
24) Digital karyotyping is a technique where each chromosome was fluorescently labeled with
defined fluorophore (color) for chromosome-specific DNA. ( )
25) Plasmids are inserted into bacterial cell in a process call DNA transfection ( )
26) Cri du chat disorder is an example of chromosomal structural abnormalities C )

4



27)DNA fragments can bind to plasmids that been cut by the same restriction enzyme ()
28) In PCR we raise the temperature to 95 °C for extension of the transcription product « )

29) Ampicillin is used in plasmid cloning for a discerning selection of the transfected clones (

)
30) Knowing that gene x was cut using HindII1 IIOObp and Pst 2500bp the product size
would be 900 base pair ( )
II- Knowing that gene Z (5000 bp) was cut using follows restriction enzymes in two
separate reactions using (5 marks)
1) Pst and Hind III ' 2) BamH I, EcoR I and Pst
BamHI 300bp EcoRI 600bp HindIII 2100bp Pst 3600bp
\ 4
Drew up the expected bands of these reactions when they were separated at the same time
using gel electrophoresis
| %
5000
4500
4000
3500
3000
1500
1000
500
400
300
200
100
Best wishes
Dr. Dooa Sakr Dr. Mohamed Elsaid
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Mansoura University 7 . ~ Fitst Level

Faculty of Science { - Date: 5/1/2016
Chemistry Department / Time Allowed: 2 hours
Course: Chem. (121) m Full Mark: 60 Marks

FIIX Answer the fo[[owzng questions ****

; [Qi] Put the Mark (\/) for the right sentence and (X) for the wrong with writing its correction:
, (15 marks)
1. The CI-P-Cl bond angles in PCls are 90° and 120°. (;sP, 17Cl)
2. The maximum number of electrons in each of subshell is (4£ +1).
3. The first ionization energy of P atom is less than that of S atom. (5P, 16S)
4. In the periodic table, the O element is the highest electronegative and Ba is the least. (30, ssBa)
5. BeCl, is a linear molecule whereas H,O has bent molecular geometry. (4Be, 5O, Gl
6. The polarity of the covalent bond increases as follow: C-O > C-N > C-F
(Electronegativities of ¢C =2.5, ;N =3, 30 =3.5, oF =4)
7. No two electrons in one atom have different set of quantum numbers.
8. The maximum number of electrons in f'subshell is 14.
9. The atoms combined together to form bonds.
10. The hybridization of B in BFj is sp’. (sB, oF)

[Q2] Choose the correct answer of the following questions: (15 marks)
1. Which sketch represents an orbital with the quantum numbers n =3, £ =0, mg= 0?

D S v O o ¥ I e

2. Which of the following is most likely to be an ionic compound?

a) NF3 b) N, c) CO, d) Na,O
3. Which of the following has the largest radius? (30, ;1Na, ;;Mg, 1,Cl)
a) CI b) O* c¢) Na* d) Mg**
4. What is the electron configuration for copper ion, ,oCu™?
a) [Ar] 4s* 3d° b) [Ar] 4s' 3d"°  ©)[Ar] 4s°3d"°  d) [Ar] 4s° 3d®
5. Which of the following Lewis N,O structures is false?  (;N, gO) ‘
a) : N=EN-O : ) N=N=& ) :N-NZ=O:
6. Which one of the following is a metal?
a) sB b) C ¢) 31Ga d) K
7. Which one of the following molecular formulas is an empirical formula?
a) C5H50z b) H202 ) C) C2H6SO d) H2P406
Molecules like CO,, NO, and BF;, which one obeys octet rule? (5B, ¢C, 7N, 50, ¢F)
a) All obey. b) Only BF; c¢) CO, and NO, d) Only CO,
8. Whlch one of the following is the correct orbital diagram for ground state oxygen (30)‘?
2p s 25 2p is 2s 2p 25 2p
a) [4] ﬂ ﬂ 1] [ ] oA [re] e 2 [ * d)ﬂﬂ teofty

9. Which of the following elements has the most negative electron affinity?
a) ;oNe b) oF c) sO d) ¢C

Please turn over

e



o0 [Q3] Complete the folloviiag sinfements: _~ (15 marks)
.-~ 1. Pauli Exclusion Prineiple states thal ................. ooteal, S
2. The four quartuim nuniters of the last electron in 3d° are ........
B i et s i concluded that it is.impossible to simultaneously know both the position and
momentum of an cbject as small as an electron. "

4. In Lyman series of H spectrum, the third line represents the movement of electron from the .........
energy level to the ............ '

5. The atomic size of Liis ...... than that of O and the atomic size of Be is ...... than that of Ba.
(L4, 50, 4Be, s¢Ba)

6. Down the group, the first ionization energy ............ and the electron affinity ............

7. s-s overlap produce ...... bonding molecular orbital and ...... antibonding molecular orbital.

8. Ionic bond results from attraction between ions of different charges and ........... bond results from
sharing of electrons from two atoms but ........... bond results from sharing pair of electrons in which
both electrons come from the same atom.

9. 80% of known elements on the earth are ...........

10.Bonding M.O. possess ........... energy than of atomic orbitals.

[Q4] a- On the basis of (M.O.T), answer the following: (15 marks)
1. Which molecule is more stable O, or O, ?
2. Which molecule is paramagnetic N, or O,?

b- 12 gram of zinc and 6.5 gram of sulfur react to form zinc sulphide (ZnS), a substance used in
phosphor that coat the inner surfaces of TV picture tubes and computer screens; the equation of the
reaction is

Zn+S — ZnS
1. Which is the limiting reactant?

2. How many grams of ZnS can be formed? (The atomic weights of Zn= 65.4, S=32).

¢) Magnesium reacts with chlorine to form MgCl,, draw Born-Haber cycle of the formation of MgCl,?

wwwxx Bost Wishes *¥#%%

Prof. Nagwa Nawar and Prof. Ola El Gamal
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.Mansoura University ) \i% Time Allowed: 2 h
Faculty of Science ¥ ' Date: 16 /1/2016
Department of Physics - S0 All Programs
' First Term Exam 2015-2016
_ Physics (101)
" Q.1) What is the meaning of each expression: _ | (20 Mark)

1- The work done to produce a quantity of heat equal to 1 cal. -

2- Particles that are very close together can transfer heat energy by..... |

3- The quantity of heat ’('Q) that flow perpendicular to the face during a time (t).

4-  The rate of heat flow per unit area per unit temperature gradient when the heat flow is at right angle

to the faces of a thin parallel material under steady state condition.

5-+ The amount of time it takes to complete one oscillation or 1 “cycle.

6- The amount of heat per unit mass needed to change one gram of a solid substance into one gram of
liquid without changing its temperature.

7- The deformation produced in the body is not completely recovered after the removal the load.

8- The negative ratio between the lateral strain to longitudinal strain. .

9- An external pressure applied to an enclosed fluid is transmitted uniformly throughout the volume of
the liquid.

10-If a body is totally or partlally 1mmersed in a ﬂurd the buoyant force will equal to the weight of
displaced fluid. '

Q.2) Write 'T" if the statement is true and 'F' if the-statement-is false. 3 (10Marks).

1- Hooks law is applied correctly up to Elastic limit.
2- Insulators do not have free electrons and so they conduct heat as well as metals.

. 3- Heat conduction is the transfer of heat by the direct collision between particles of matter.

* 4- The heat travels between the Sun and the Earth by conduction or by convection.
5- The latent heat of vaporization of a substance is always Greater than its latent heat of fusion.
6- The coefficient of linear expansion is twice the area of thermal expansion.
7- Substances with higher heat capacities heat up more slowly than those with lower heat capacities.
8- In steady flow, the velocity of an incompressible fluid at each point does not remains constant.
9- A thermometer is an instrument that measures the temperature of a system in a quantitative way.
10- Change in shape or size (or both) of a body due externally applied force is called stress.

NN e TN e PN N
~ O~ ~— , N

Q.3) Solve these Problems | (10 Marks)

1- A 0.1 Kg unknown (ingot) of metal is heated to 300 °C and then dropped into a beaker containing 0.5 Kg
of water initially at 25 °C. If the final equilibrium temperature of the mixed system is 50 °C. Find the
specific heat of the metal. (Cy, =41907)

2- The smaller and larger pistons of a hydraulic press have drameters of 4 cm and 12 cm. What input force
is required to lift a 4000 N Werght with the output plston‘7

3- The extremes of temperature in the bottom of the earth, over a perlod of 50 years, differ by 116 °F.
Express this range in Celsius degree?

4- A square hole 8.00 cm along each side is cut in a sheet of copper. Calculate the change in the area of
this hole if the temperature of the sheet is increased by 50.0 K. B¢ =34x 106K
5- Ifthe force I equal F=2mrLvn/R whereris radius L is Iength, v is speed and R is distance, what

are the dimensions of m (viscosity)?



Q.4) Answer these questions: 20 Marks)

1- If the general equatlon of simple harmonic motion is gives by [d°x/df’ +(k/m)x = 0]. Prove that the
angular frequency w” k/m where x is the dlsplacement k is the sprlng constant and m is the mass of
object. ' S -

2- Write the difference between the tensﬂe the Bulk and the Rigidity modulus.

3- Bernoulli’s equatlon studies the relation between pressure P, density p, velocity v and height hand
their ability to describe fluids in motion. Discuss this equation in When i- the liquid at rest, ii- if the
height is constant. iii- When there is no change in pressure

4- “There are three temperature scales that are used by scientists to measure temperature How are they
different from each other?

Good luck
Examiners
Prof . Dr. Moustafa Tawfik ) Prof . Dr. Rizk Moustafa
Ass. Prof. Maysa Ismael : . .~ Dr. Mohamed Mekamer

Dr. Afaf Sathan =~ =~ ' Dr.Menem Reda
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Mansoura University First Year English Examination
ESPC. ~ 23/1/2016
Faculty of Science Time: Two Hours

Section One: Reading Skills:

Below is a short passage comparing Solar energy to other sources of energy. Read the
passage in order to do the tasks which follow:

(1) Solar energy is a renewable energy source. This means that we cannot run out of solar energy,
as opposed to non-renewable energy sources (e.g. fossil fuels, coal and nuclear). We will have access to
solar energy for as long as the sun is alive — another 6.5 billion years according to NASA. It is also
abundant: The potential of solar energy is beyond imagination. The surface of the earth receives 120,000
terawatts of solar radiation (sunlight) — 20,000 times more power than what is needed to supply the entire
world. An abundant and renewable energy source is also sustainable. Sustainable energy sources meet the
needs of the present without compromising the ability of future generations to meet their needs. In other
words, solar energy is sustainable because there is no way we can over-consume.

(2) Harnessing solar energy does generally not cause pollution. It is clear that solar energy
reduces our dependence on non-renewable energy sources. This is an important step in fighting the
climate crisis. Solar energy 'is available all over the world. Not only the countries that are closest to the
Equator can put solar energy to use. The majority of today's solar power systems do not require a lot of
maintenance. Residential solar panels usually only require cleaning a couple of times a year. Serious solar
manufacturers ship 20- or 25-year warranties with their solar panels.

(3) Solar vs. Wind : Wind turbines can take a lot of space and can be noisy, so they’re better
suited for rural rather than urban locations. Wind energy works best in windy places, not surprisingly.
Solar power is adaptable — Germany is currently the largest market for solar panels, even though it’s not
known as a particularly sunny place. In other words: it is more important to live in a windy place if you
want to use wind turbines than it is to live in a sunny place if you want to use solar panels. Wind turbines
require maintenance, and solar is virtually maintenance-free. Wind power can be less expensive to
produce initially. On the other hand, the federal tax credit, state and local incentives are making solar
power more affordable.

(4) Solar vs. Hydropower: Hydropower is typically done in large-scale dams rather than for
homeowners (although someone with a rushing stream or river on their property might be able to use
small scale “micro-hydro™); solar can be used almost anywhere. Large dams are extremely expensive to
build. Flooding large areas of land destroys habitat and can force human relocation; solar panels can be
installed on existing unused space like rooftops. Building large dams can cause geological damage
leading to earthquakes. Dams can unfairly alter water supply between communities and countries.
Building dams alters the natural water table level and can negatively affect wildlife such as salmon.

(5) Solar vs. Biomass: Biomass (wood or plants) is usually used for fuels rather than electricity
production, though it can be used either way. Right now, most homeowners in the U.S. do not have the
option to purchase electricity made from biomass, though it’s available in a very small number of areas.
Crops like sugar cane and other sources for biomass require land that could otherwise be used for growing
food. Algae helps avoid this problem somewhat because it can grow in water. Solar panels do not
necessarily need to use land space, since they can go on existing roofs. Burning biomass creates CO2
emissions, though less than fossil fuels like coal. Solar energy does not create emissions as it produces
power. Solar panels have efficiencies as high as 19%, meaning that much of the sun’s energy is converted
into electricity. The efficiency of biomass is much, much lower — perhaps less than 1%.

I. Answer the following questions briefly:
1. What are some of the negative effects of a) dams, b) wind turbines, and c) coal?
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2. According to the information in the passage, explain in your words how solar energy is a)
abundant, b) sustainable, c) renewable, and d) efficient.
3. Based on the text, how is solar energy more friendly to the environment and less expensive than
the other sources mentioned ?
I1. Are the following statements true or false? Justify your answer with evidence from the text:
1. Establishing solar energy panels requires a lot of space on land.
~ 2. Solar energy can be produced in places where the weather is not very hot .
3. Hydropower may be produced on a small scale by homeowners.
4. Generating solar pollution leads to noise pollution.
5. Biomass is more friendly to the environment than solar energy.
IIL. Find words in the passage which mean:
1) Whole (Paragraph 1)  2) Need (Paragraph 2) 3) Influence (Paragraph 4)
4) Changed (Paragraph 5)
Section Two: Language Skills:

I. Each of the sentences in the passage below has one grammatical mistake. Find the
mistake and rewrite each sentence correctly.

(1) Acid rain describing any form of precipitation with high levels of nitric and sulfuric acids. (2) It can
also occur in the form of snow, fog, and tiny bits of dry material that settles to Earth. (3) When humans
burn fossil fuels, sulfur dioxide (SO2) and nitrogen oxides (NOx) released into the atmosphere. (4) These
chemical gas react with water, oxygen, and other substances to form mild solutions of sulfuric and nitric
acid. (5) Winds may spread this acidic solutions across the atmosphere and over hundreds of miles.
(6)When acid rain reaches Earth, it flows across the surface in runoff water, entering water systems, and
sinks into the soil.

II. Each of the definitions below has a mistake. First, decide if it is (1) giving an example,
(2) using a word from the term to be defined, or (3) absence of general class word. Then ,
rewrite the definition correctly.

1. Geometry is the study of geometric figures.
2. A degree is given by a university to a student who has passed the appropriate examinations.

3. A dictionary is a book like 'Oxford Dictionary'.

IIL. Punctuate the following sentences

1. although peter lives by the ocean he won t go in water
2. ihave some news for you john s father has arrived

3. he said there is a u turn on two blocks on first avenue

IV. Do as shown in brackets:

1. can't make the person rich. (Add a gerund phrase).

2. Working in the yard all day, I got a sore. ‘
Working in the yard all day, my back got sore.

Working in the yard all day, it became very neat.
(Choose the only correct structure avoiding Dangling Modifiers)

Having seen black pool tower, the Eiffel tower is more impressive. (Correct the sentence)

He gave a present to his sister wrapped in a bright paper. (Correct the sentence)

Ipeland has little agriculture (beside — besides — despite — during) grazing land for sheep, horses and
cattle.

WK B W



Section Three: Writing Skills: Choose Only one topic: either A) or B):

A) Using the information in the following diagram, write down a paragraph of about
150 words to compare between vertebrates and invertebrates:

Animals

ey

Vertebrates invertebrates

No backbog

Over 90% of animals
on Earth

’ Less than 10% of

. ~Ariimmals
animals on Earth T

Excamples:
~arthropods

Excrrmples:

~ mammals
~ reptiles ~roiiusks
~amphibians ~ OIS
~ fish

~ Birds

~echinoderms

~ sponges

B) Using the information in the following table, write a paragraph of about 150 words
comparing between Bacteria and Viruses.

Viruses ‘ Bacteria
* 20x smaller than bacteria ¢ 20x larger than viruses
¢ Single<elled micro organisms * Non<ellular and sub-microscopic (much smaller)
* Contain: a central core of DNA surrounded by a | ¢ Contain: a single chromosome, a cell wall,
protein coat, no nucleus, no cytoplasm, no call cytoplasm, a cell membrane, ribosemes and

membrang, no cell walls, no ribosomes, enzymes | enzymes to break down food and build cell parts
neadad to invade a cell and replicate their nudcleic

acids

¢ Only capable of reproducing inside otherliving | » Capable of independent reproduction, host cells
cells not needad

* Do not fead, excrete, and grow * Feed, excrets, grow, and reproduce

* Nondiving * Living




Mansoura University 8 geaiall Arala
Faculty of Science potall A

Botany Department . i S bl audd

El-Mansoura, Egypt ' o s e e - by pualall

Educational Year: First Level Final Examination in Botany Subject: Botany

First Term: Jan. 2016 Program: Microbiology,
‘Course: Biodiversity ' Chemistry and Botany,
Chemistry and Zoology,
Environmental Sciences,
Biochemistry and Geology.
Code: B 101 Time: 2 hours Date: 26/1/2016  Full Mark: 60 : Question Mark:15
Answer the Following Questions: (rfiadaa A glalay)
A. Complete the following sentences: (6 mark)
1. Deutromycetes are characterized by .o vovs vesssne AN o onienames sna
2. Eumycota are classified into classes ......... R

3. Ascocarps in ascOmycetes are «eceeeesee 6 5766 4 sl s o

4. Spores produced in the hosts of Puccinia graminis are .......yeeeeesegennes
5. Asexual reproduction in Zygomycetes by the formation of..................

6. Stages of sexual reproduction in fungi are .......eey ceevecseerergerecanens
Write short notes with labeled dlagrams on the followmg (9 mark)

©00goccocce

B.

1. Ascus and ascospores formation in ascomycetes.
2. Economic importance of Mycophyta
3. Nutrition in Fungi.

A; Complete the missing word(s): (4 mark)

1- Staminate flower must lack........

2- In bryophytes, the root-like structure is known as.........
3- Gymn'ospermae reproduce by.......
4- ... is the dominant generation in Funaria life cycle.
B. Choose the most correct answer: (4 mark)
1) Which of the following is a non-vascular plants
a- Pinus b- Cycas c- Adiantum d- Funaria

2) Double fertilization occurs in

a- Gymnospermae ~ b- Angiospermae c- Ferns d- atb
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C. 1- Mention ONLY TWO diagnostic features of bryophytes, ferns and dicot plants.
(4 mark) .
2- With the help of a LABELED DIAGRAM, illustrate the life cycle of a

bryophyte. (3 mark)
.A Types of reproduction in Chlamydomonas with the help of labeled diagrams.

(7 mark)
B. Define each of the following (draw if possible): (3 mark)
1- Air bladders in phaeophyceae. 2- Carpogonium. 3- Chrysolaminarin.

C.IN A TABLE; compare between each of the following: (5 mark)

1. The kingdoms of Whittaker's classification of living organisms.
2. Prokaryotes and eukaryotes organisms.

A— Complete the missing word(s): (7 mark)

1. The binomial nomenclature system gives each organism two names the ......... and

..........

The protein coat enclosing the viral genome is known as ..........
Viruses that replicates inside bacterial cells are termed as ..........
Eubacteria belong to the kingdom ..........
Bacteria that cannot grow in absence of oxygen are called .......... .
Peptidoglycan is a polymer composed of amino acids and sugars which is an integral
part of the cell wall of...
7. Bacteria reproduce Vegetatlvely e v
B- Mention the potential function of the following: (3 mark)

1. Heterocysts. - 2. Bacterial capsules. 3. Akinetes.

C- 1- Using labeled diagrams ONLY differentiate between monotrichous,
lophotrichous, amphitrichous, and peritrichous bacteria. (2.5 mark)

2- Mention the distinctive characters of cyanobacteria. (2.5 mark)
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